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2.3.6.3 DIP@)

the rosult type cf the functian,

PEZX 1s used to retriave data from the memcry of the cameuter. ans =ne res..:
may ~e cf any type.

In all PEEX and POEZ (the cocssite of PIIX) sserations cata :s moved n
Hisoft Pascal 4's own internal representat:cn setaiiec :n appgenzix 3. .':r
example: 1f the memory from L2000 cnwarss cantains the values: <O ol 73 - 33
61 6C (in hexadeamal) then!

WRITZ(PEZX(LS000,ARRAY(1..4] OF CEZAR) gives Pascal’
WRITE(PEZX(ZT000,CHAR) gives P’ :
k’?.....(?E:I(JOOO NTZGER) gives 28912
WRITE(FEZZLI000,REAL) gives 2.36227=+27?

see Appendix 3 for more details on the represaentation of types witnin Hiscfe
Pascal 4.

The parameter of this function :s a vaniacle. Tha integer result 15 the a.‘.\ou.\t

of storage taxen up Dy that variadie, 11 bytes.

¢

INF is used to access the 280'% pcrts directly without using the srocacure
DO THE. The value of the integer zarameter 2 15 icaza¢ into be 3C register
and tha cnanc:er result of the funcien is cotanec dy Ixeculing the assemoly
language 1struction IN AWC).
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